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Figure 4 shows a sketch of part of the curve C'| with equation z2(1)

y=2x*+10 x>0 T A=t [35 (Irark)
and part of the curve C, with equation

3‘-'2/\ x>0,
y=42x—15¢%-7 x>0 x= =4 +J33 (Jmerk)
1
(a) Verify that the curves intersect at x = 5
(2
; . . , |
The curves intersect again at the point P _j .U .J _J

(b) Using algebra and showing all stages of working, find the exact x coordinate of P

)

s
L3} cgi'th x=i} 5—‘—2('%_)_*-105#.}"0:%

(A

Catwhen x=k, wz 425 -IS(5)-F=21 - -7 = % lud)

b
So curves intersecl ot (1{ by (j, NL)
@ For inevs\;ciiun, 8 & jlo =42« il it I
> 2. °+15x -42x +1F =0 O_ k)
we keow x 2% s a selabion X~ + B - 1%
50 (2x-1) is o Facter 2 -| ]Zx,s 15 42> + [F
-2xX & < 0,
( mxiﬂl - A2 2-1) (L A7)0

(bt =8 x)

—

;“ (2, marks)
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